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����� 2

�"�#K �K����
 MH������	�

1.  �"�#K

       1.1  �/��
�����,8��.	��6��%&��0�3� 0�����/
0�
�� 7 �E�>
�0� 40 �/�
       1.2  ���%8���%��
�����	�8�
       1.3   
�	>
�
�'
��.�%&
       1.4  ���	����(
       1.5  	�����v�
       1.6  	���
9	
�	����	
       1.7  ��
����� 1�/���� 1�/����
�
       1.8  �/
�
0�
� ��� ?/0���
 ��	
       1.9  ?��	���
9
       1.10  ?����
 ��	
       1.11  	�����������
       1.12  ��	�/
3 ����
����
       1.13  1$���� ,��
�z
       1.14  �
		
���,
       1.15  ��� PVC ��
�� /���
�'.��(	�
� 3 �-������� 12 ���
       1.16  0
 ���%8�z �&�� 	���
9 �
		
 ��
� 1$���� ��6��/�
       1.17   
����,
                 -  �������, .�� 16-16-16, 8-24-24 ��� 13-13-21
                 -  �����
�3� .�� 16-12-0 ��� 7-13-34+12.5 Zn
                 -   
��
�3�
                 -   
����8���� ��!�B
��������4,�����
�3�
                 -   
����
� �-��,��1����	1-�( (��/��/� 0.1 ���(���)
                 -   
����
�vE��v�
�,� (��/��/� 1 ����(�-G��()
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  1.18  0
 �����%8���	/0  (B
���0	�,8  9)
             - ��0���
             - �}���
             - 1�����}���
             - �,	�	��(
             - �0��.�&��.�
             - �0���
�����
��
             - $��������

 
2.  �K����


         2.1  ��G���'
         2.2  	�/��?�
��.�
         2.3  ���%8��0
�� � (LI-250 Light meter with LI-190SA Quantum sensor, LI-COR USA)
         2.4  ���%8��0
��0
�&%5�3���� (Soil moisture gauge) ���� 4300, Troxler  U.S.A
         2.5  ���%8��0
�� � (HOBO-Light Intensity Loggor)
         2.6  ���%8��0
���+$B.���
	
' (Data logger HOBO Pro series RH Temp)
         2.7  ���%8��0
�'
	�(����5>
3�3��%& (Pressure Chamber) ��� PMS, U.S.A
         2.8  ���%8��0
�	
�&
	�>
	
���}��
	3� (Porometer) ���� AP4  ��� Delta-T, UK
         2.9  ���%8��0
�����
+�����G��,8���
��5>
1�/ (Hand Refractometer)
         2.10  ���%8��0
��%5��,83�����0
��
0�
	B
�3�/����	�� DIAS Root Length
         2.11  ���%8��0
��0
�������%5� (Firmness tester)
         2.12  ���%8��&
8� 2 �>
�$���
         2.13  ���%8��4,���������
�3�
         2.14   0�
���
��	G��
0���
����
         2.15  �./��
         2.16  �0��(��,��(
         2.17  ���%8���%��	G��	,8�0���
����
         2.18  ���
B
����	�+(� ���
�����,��3� (B
���0	�,8 4 - 7 ��� 9)
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3.  �����	�!���	

	
�������,5��6�	
��	G��/��.������%8������>
	
�'7	9
�
5������%�����
�� 2547- �	�
�� 
2549 �0������0�
�,8�>
	
�'7	9
 1 �E 4 ��%�� 	����>
	
������1�/'7	9
�/��.��%5��,8��� �>
��
���
 �>
�B����
 �
�$0
� ���
 ��%8�3&/��6��/��.��%5��
����	��	
�0
����	
������ ����%5�
�,8����,83&/�������6����&�� Songkhla series (Sng) $��0��,8����,5��6�	����&������,8�,��%5��������6�
�0	�����0�����
�$�%������0������
���6������0��$�,�0����
�$�%������0��$�,�0�, ,��
$�%�
 ,�5>
�
����� ���������0	 ,�5>
�
� ,�$�%��$�%� ,������� �
��$���
���'��
�������$�%�
	/�� 
����, � ��0	�$�G	������	
�, 3����&
5���
��	���
	0
�?��/�	>
��������0	��	���>

�5>
������0+�%5��,8�
���,�� $�%������/
���,�� ��6�����7	�
	�,	
����
��5>
�����/
���0?7���0�,
�0
����� ��.�+(�
�!���&
�������/
��8>
���	����
�����6�	���
�?7���6�	���	��,��
�0
���6�
	����
�����
+ 4.5-5.5 �y�$
 >
�
�3�	
�3&/�����&�(�,8������$��0��,8����,51�/�	� ����,�0
�
���� ��.�+(�8>
����,��%5�����������/
���6������
��y����
�3&/�>
�
 �
��$��3&/��.	�%&1��$�%�
1�/�%��/� �&�� �
��
�
 	
�v $�%�1�/��&�����
�����,�y�$
	
��&��
�����5>
3���.@�1�������,
�y�$
3�	
�3&/�����&�(�,8��� (	���
��
�,8���, 2535)

 3.1  	
����,�����	
��
���%�	�/��
����
                          �>
	
�'7	9
�,8 ?
�,0��
����@A	B
� �
����
 �>
�B����
 �
�$0
� ���
 ����
�
��%�	�/��
�����,8�,�0
� ��.�+(�
�� 7 �E �>
�0� 40 �/�-78���.	��6��%&��0�3� 0�����/
0����
��.	 9×9 ���� �,	
�3$/�5>
�/0����� �����	��( (B
��,8 1) �>
	
��>
�0+����
������������
�
���� ��%8���%�	��
������������,8�,����
��3	�/��,��	
� (B
���0	�,8 1) -78��>
�0+�
	 .����� 
Chapman ����+� (1986) �
��,5 �%�
                    ����
��������� (V) = (H-d/2-s) Л (d/2)2+Л (d/2)3 2/3
                          V = ����
��������� (�.	�
'	(����)
                          H = �0
� .��/� (����)
                          d = � /���
�'.��(	�
������
 (����) �4�,8��
	��0��'�$�%�-3�/

     �����'��0
���	 - ��'��0
��	
                           s = �0
� .��
	&
5���
� ������/���?7�&
����� (����)
            -78���1�/����
���������3������ �8��������.���$0�
� 19.59 - 31.54  �.	�
'	(����(�
�
�
��0	�,8 1)
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           A	���� 1  � ���>
�$�������/��
�����������/
03� B
����������

3.2   	
��
�����	�8��
����
���8��>
	
���������	
��
�����	�8��
����-78���.	��6��%&� ��� 3 ��� ��%8����,��

��,��	
�1���,	
��
�����	�8�����,	
�0
����	
�����������G�	 ��.�+( (randomized complete 
block design) 4  �8������ (B
��,8 2) ����� �8�������>
 10 -5>
 �
��,5

 �8������ 1   (T1) �0����
  �8������ 2   (T2) �
�	�8��.���
���	�/
�$�78�
                             �8������ 3   (T3) �
��.���
���	����.��0/��.�

               �8������ 4   (T4) �
����3$/�$�%��/� .� 3 �����
	�%5����

�
���� ����/
0
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                                   	                                                                               �

            
                                    �                                                                               �

A	���� 2  0�!,	
��
�����	�8�3���� �8������
) �0����
) �
�	�8��.���
���	�/
�$�78�
) �
��.���
���	����.��0/��.�
) �
����3$/�$�%��/� .� 3 �����
	�%5����

 =    �>
�$����,8�>
	
��
�����
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3.3    	
��.���
	9
�/��
����
3 �����0���
'
 ��( .�� 16-16-16 3���%�����
�� �
��
 1 	���	�
�����/� ��0�	
�	
�

4,���������
�3���%8�&
	�>
	
���	3����� �������	
����������������/�   $�
��
	�
5�3$/��������
	
���	��	 .�� 8-24-24 3���%��!
�0
�� �
��
 1 	���	�
�����/� ���3$/�����>
�����$�
��
	���
�� 1 ��%��  .��   13-13-21 �
��
 1 	���	�
�����/� �>
	
�4,���� 
����,��%8�������������
���
� 3$/�5>
	�+,@���5�&�0���$0�
���%��	��B
�
�!(?7���%����9B
��

4.  �����	�!���	

     4.1  �/��.� B
��
	
'��� B
��0��/������0+���������
           4.1.1  �>
	
��	G��0��0��/��.��
���������0���


�/��.� B
��
	
'�E 2547-2548 �
	 ?
�,�
	
'�	9����$� (3�'.��(0��
��
� ���
 
�>
����$� ( �>
�B�$
�3$�� �
�$0
� ���
 ���	���/0� ����
+�5>
@�  	
����$�����5>
  
��+$B.�� .� ���4�,8� �����+$B.���8>
 ���4�,8�
            4.1.2   B
��0��/������0+�����������
����
                     4.1.2.1  ����(�-G��(���� ��,8 �����
��������

3&/���%8��0
�� �0
���6�����(�-G��(���� ��,8 �����
�������� (%PAR) ���
�������������	��6� 3  �0� �
��0
� .�������������6������������� ����������	�
����
������������
� �>
��
�,81�/�
$
��
�4�,8���6�����(�-G��(���� ��,8 �����
������������
����3����
��&�0��0�
 ���0
�&�0��,8� ��,�,8 ���0�
 11.00 - 13.00 �. �>
��
�4�,8��,81�/�
�>
�0+��6�����(�-G��( 
���� ��,8 �����
�������������������
����3������ �8������ (B
���0	�,8 7)
                     4.1.2.2  ����
+� �����0+�/
���	����/
�3����������

3&/���%8��0
�����
+�0
���/�� � (LI-250 Light meter) 0
��0
���/�� �
����0+�/
���	����/
�3�����������	G��/��.�3����0
���	 2 &
80��� �
5�����0�
 8.00 �., 
10.00 �.,12.00 �.14.00 �. ��� 16.00 �. �>
�/��.��>
1�/�
� ����6�	�
v��%8����,����,������
+
� ��/
���	����/
�3���������� (B
���0	�,8 7)
                     4.1.2.3  ����
+� ���	���������

3&/���%8��0
�� � (HOBO-Light Intensity loggor) 0
�� �3�����0+3	�/	
��%5�
�,8�>
	
��������6��0�
 1 ��%�� ���3$/���%8��1�/�
�� ���G��,8 �>
��
�,81�/�
$
��
�4�,8���6�����
+
� �3������&�0��0�
3����0
�  �/
�	�
v��%8��.����
+� �3����0
� (B
���0	�,8 7)
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                     4.1.2.4   �0
�&%5�3����
3&/���%8��0
��0
�&%5���� (Soil moisture gauge) ���� 4300, Troxler  U.S.A0
�

�0
�&%5�3���� (-,-,/���1-,-,) 3��0�
 8.00-16.00 �.���	
�@y�����,0,-,�,8�}���
��/
��,8@y���3�
�����
�� /���
�'.��(	�
� 3 ��50 �,8���
��0
��7	 20, 40 ��� 60 -.�.����0+	78�	�
��
'�,�������
����
�������3$/����/
��,8�����/�����
0����
+ 20 -.�. ��%8��>
	
�0
�3&/$
0�-��-��(������%8��
0
��0
�&%5�$������1�3�����,8@y���1�3������%8�0
����
��0
�&%5�3�����,8���
��0
��7	 20, 40 
��� 60 -.�.�>
�
�>
�0+ $
��
�4�,8�����
+�5>
�,8$
�1�3�&�0��0�
 8.00-16.00�. ����>
��
�,81�/
�
	���%8���
 �/
� �	
��0
� 
��
�!(��$0�
���
�,81�/�
	���%8��	
���
�0
�&%5�������� �����

�0
�&%5��������$
1�/�
		
� ����	G��
0���
����3����
��0
��7	 20, 40 ��� 60 �-������� �
&
8�
�5>
$�
	 ��
	�
5��>
1����,8��+$B.�� 106 ��'
�-��-,�  ��6��0�
 24 &
80��� ��/0�>
�
&
8��5>
$�
	
�$/��>
��
�,81�/1�$
����(�-G��(�0
�&%5�����
	 �	
�

                                ����(�-G��(�0
�&%5���� = �5>
$�
	�����E�	 | �5>
$�
	����$/�    × 100
        �5>
$�
	����$/�

�>
��
����(�-G��(�0
�&%5�����,81�/�
	 �	
� �����
�0
�&%5�����,81�/�
	���%8���
$
 �	
��0
�
 
��
�!( (B
���0	�,8 10) ��%8�$
	
����,8�������0
�&%5�������� ����6�	�
v��%8����,����,��
3������ �8������ (B
���0	�,8 7)
                     4.1.2.5  ��+$B.���
	
'3��������

3&/���%8��0
���+$B.���
	
' (Data logger HOBO Pro series RH Temp) 0
�
��+$B.���
	
'3��������  ���0
��,8�>
�$���	78�	�
��/��>
�
$
��
�4�,8���6���+$B.���
	
'3����
��������
����3������ �8������ (B
���0	�,8 4)

        4.2   	
���� ����
� �,�0���
����
����
              4.2.1  	
�&
	�>
	
���}��
	3�

3&/���%8��0
�	
�&
	�>
	
���}��
	3� (Porometer ����AP4) 	����>
	
�0
��/����
�
��
�
���
�������%8���%�	
�������
���
�
���
� 3$/��
�0
���
����%8��1���	�� 10 ����(�-G��( 
��%8��	G��/��.��>
	
� �����%�	3��� �
� 3 3� /-5>
/��
5��,80
� ��%�	3��,8� � ���?7�����0+ �� 	�
� 
�����
� ������� �>
	
�0
��/��.�3����0
���	 2 &
80��� �
5�����0�
 8:00 | 16:00 �. �>
�/��.�3�
���0
��,80
�1�/�
$
��
�4�,8� ���� ����6�	�
v��%8����,����,��3������ �8������     (B
���0	
�,8 7)



17

                4.2.2  '
	�(����5>
3�3�
3&/���%8��0
�'
	�(����5>
3�3����	
��
�3��,8� � ���?7�����0+�� 	�
� �����
�

����������-78���
��
0��G��,8��/0 (young fully expanded leaf) �>
�0� 3 3�/�/�/-5>
 �
�3��
3 �3�
����0
��
�������%8���%�3$/	/
�3���������0+�.����.	�
��,8���@
�}�����0
��
� 3&/����
��
	
�	G 1�������  
��	��5>
�,8?.	�
���	�
�
�	/
�3�����
��7	�/��.� ����>
	
�0
��/��.�3����
0
���	 2 &
80����
5�����0�
 8:00 | 16:00 �. �>
�/��.�3����0
��,80
�1�/�
$
��
�4�,8����� ����6�
	�
v��%8����,����,��3������ �8������ (B
���0	�,8 7)

     4.3  	
����������
��
	
�����
����
            4.3.1  	
�������������
��/
��>
�/�
                     4.3.1.1  �0
� .��,8���8��75�

���0
��
	���
��%5����?7�����>
�
$
�0
� .��,8���8��75�����
�������0
�
��
5���	3���%����'��	
�� 2547 ����>
	
�0
���	z 2 ��%�� ��6��0�
 1 �E
                     4.3.1.2  � /���
�'.��(	�
���������,8���8��75�

���0
��
	�����������
��/
���'��0
���	?7��/
���'��0
��	����/
���'
�$�%�?7��/
���'3�/�>
�
$
��
�4�,8���6�� /���
�'.��(	�
������������,8���8��75���	z 2 ��%����6�
�0�
 1 �E
                     4.3.1.3  �0
��
0���	�8��,8���8��75�

�>
	
���%�		�8���
���������������,8�,��
����
	
��>
�0� 5 	�8�����/����
��
��>
���%8��$�
� 0
��0
��
0	�8��,8���8��75���	z 2 ��%�� ��6��0�
 1 �E
                     4.3.1.4  ����(�-G��(	
���	3�3$��

�����������(�-G��(	
���	3�3$��  ���	
��������������	��6� 4 �/
�z �� 
100 ����(�-G��( �%��/
���'�$�%�  ��'3�/  ��'��0
���	 �����'��0
��	  ��/03$/�����	
���	3�
3$����6�����(�-G��(�
���'�
5� z �>
��
�,81�/�
�4�,8���6�����(�-G��(	
���	3�3$������������
                     4.3.1.5  	
�	���
��
0����
	

�>
	
���
������%8��	G��
0���
��
	�
���� ���	
�����������6� 1 ���� ���     
2 ���� �
	����/��
���� (B
��,8 3) �>
	
���
������	�����,8���
��0
��7	 0-20, 21-40 ���                   
41-60 �-������� �>
����,8��
�1�/3 �?����
 ��	��	�,8���
��0
��7	��
�z �>
1���	�
	�%&��	
�
	�����/0�/
��>
�0
� ��
� �>
1��78���3$/�$/�$�
��
	�
5��>
	
���	��$0�
��
	�
�������
�
	����/
0 �>
1�0
��0
��
0�
	���3&/����	�� >
��G��
	���%8��0
��%5��,83� ������%8��0
��0
�
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�
0�
	B
�3�/����	�� DIAS Root Length �,8�,	
� Calibrate ���%8��0
��/0�0
�?��,8��
���
�0
�
�
0���� �>
��
�,80
�1�/�
�>
�0+�0
�$�
�����
	�����,��	
�����
���������,8��
� ��/0�>
�0+
��
�0
��
0�
	�,81�/3$/ ��6�$��0��0
�$�
�����
	�������0
��
0�
	�������
����� 
(�-�������/1000 ���������) �>
��
�0
�$�
�����
	�,81�/�
� ����6�	�
v��%8����,����,��3����
�� �8������ (B
���0	�,8 6)

A	���� 3  �>
�$���	
���
������%8��	G��
0���
��
	�,8���� 1 ���� ��� 2 ���� �
	����/��
����

       4.4   	
�'7	9
��'�
�����
	9+�	
���		�8�B
�3��������
���3&/��G���'�
���	�8�B
�3������������/��
��������� �8�������
��7	��
�,8��
�1�/

�
	$�/
�y���G���'  �
��7	��

        4.5  ������
               4.5.1  ����
+ �����+B
�����������
����
                         4.5.1.1  ����
+������

&
8��5>
$�
	���0��
5�$��3������ �8������

2 m

1 m

1 m

2 m

M

C

M C

C

 �
���� ����/
0
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                         4.5.1.2  ��+B
�������
 ����� �	�>
�0� 10 ������/���%8�$
��
�4�,8������+ ��
�����1��,5

                                    4.5.1.2.1  ��
������0
�� /���
�'.��(	�
���������3&/�0��(��,��(
                                    4.5.1.2.2  �5>
$�
	��
                                    4.5.1.2.3  �0
�$�
���%�	���3&/�0��(��,��(
                                    4.5.1.2.4  ����
+�����G��,8���
��5>
1�/ (total soluble solid: TSS)

����
5��5>
$0
��
	��%5������3&/�/
�
0�
�	�����	�'9��%5���
��	 3&/$���$���.��5>
�
5�$��3 �$�/
�y����%8��0
��0
�$0
� ��
���
����
+�����G��,8���
��5>

1�/ (��'
���	-() (B
���0	�,8 9)
                                    4.5.1.2.5  �0
�������%5�

0
��0
�������%5����3&/���%8��0
��0
�������%5� (penetrometer) 
	��/0����	����
z 	
�������� ��
���
�����
���
�
	��
�,8��
�1�/-78��,$��0���6�	���	�
�����

�
��-�������3$/��6�$��0� ��0�
�����
�
��-������� (��
�,8��
�1�/ x 9.807) (B
���0	�,8 9)
                                    4.5.1.2.6  ����
+	���,81�����1�/3��.����	��-����	

	
�$
����
+	�� 3&/�}��� 5 ��������� �.��5>
�
5��
���� 5 
��������� 3 �3�  �,	�	��( ���3&/vE��v�
�,���/��/� 1 ����(�-G��( �>
�0� 1-2 $�� ��6��������
����( �>
1�1������/0� 
����
���
��
���
� (0.1 N NaOH) ��%8� 
����
����,8����6� ,&��.
���
��/�� 30 0��
�, ���
��7	����
�� 
����
���
��
���
��,83&/1����� (B
���0	�,8 9)
           ����
+	���,81�����1�/ (����(�-G��() = N.base x ��.base x meq. Wt. ���	��-����	 x 100

            ��. ����5>
�
5��,83&/ (5 ��.)
                   ����,8     N.base   =   �0
���/��/���� 
����
���
��
���
�

                                                          ��.base    =  �>
�0������������� 
����
���
��
���
�
                                                         meq. Wt    =   0.06404

         4.5.1.2.7  ����(�-G��(�0
�&%5�������%�	��
�	G����%�	��3 �?��	���
9 �>
1�&
8��5>
$�
	 �	������,8��+$B.��

70 ��'
�-��-,�  �
� 72 &
80��� �>
�
0���
�&
8��5>
$�
	�$/��>
�0+��6�����(�-G��(�0
�&%5�����,8

����(�-G��(�0
�&%5�������%�	 = �5>
$�
	 � | �5>
$�
	�$/� x 100
                                                                                             �5>
$�
	 �
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                                 4.5.1.2.8  ����(�-G��(�0
�&%5������%5���
�
���%5���3 �$��� �>
1�&
8��5>
$�
	 �	������,8��+$B.�� 70  ��'


�-��-,�  �
� 72 &
80��� �>
�
0���
�&
8��5>
$�
	�$/� �>
�0+��6�����(�-G��(�0
�&%5�����,8

              ����(�-G��(�0
�&%5������%5��� =  �5>
$�
	 � | �5>
$�
	�$/� x 100
                                                                                             �5>
$�
	 �

5.  �O�=����R��R
�	��"#�H

               ��		
�'7	9
�/
��/��>
	
�0����
�$(�/��.����3&/���	
�����������G�	 ��.�+(���
���,����,���0
���	��
������
�4�,8���$0�
�	�������0�!, Least Significant Difference (LSD)


